ZD2

ANV VA= 5FZ2b BMBESHBEFEEZMOT, 19~730FAFRIONT
WY EYREZE DBV, ABEROZN2 (VRO ICRALEEV, [
ixA), B), Qo 3HEFIIHPATHT, £FT2BHTT. WIFhORMES—
BELDPH ZENTETRHA, MBEZHERLLD, RELIMEERALLE
Vo —HIOMERFINIZA 0BT, MERFICAEZMELLVTLE ).

(A) Listening 1 ~ 6 (49~54) Tid, KFERTF 7Y 20 & ICHEI R X T
DT, ZTIIHT 2R ELDLREZ EA~D)D) Hh5—DBEFR X\,

Example
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

Listening 1
49. (A) At a gas station. (B) At a clothing store.
(C) At a noodle shop. (D) At a coffee shop.

Listening 2
50. (A) She thinks she needs to practice harder.
(B) She still has not learned one part of the music.
(C)  She worries about the sound of her violin.

(D) She looks forward to playing for her parents.

Listening 3
51. (A) In his car. (B) At his office.
(©) On the road. (D) At his home.
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Listening 4
52. (A) The boy. (B) The boy's mother.
(C) The boy's father. (D) The boy's sister.

Listening 5
53. (A) At Tanya's house. (B) At Laurel's home.

(C) At Marco's pizza restaurant. (D) At Naomi's place.
Listening 6

54. (A) The restaurant. (B) The karaoke rooms.

(C) The gift shop. (D) The reception desk.
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(B) Listening 7 ~ 8 (55~63) Tit, #iEx BT, FIRISW7zBBICHT 2R
B REZZN~CID) b b—DEU %R SV, %23, Listening 7 (1L FEAS

4o,

Listening 8 ICIXMEDSHOH Y T4, HIEIIDH Y TEA.

Listening 7

55.

56.

57.

58.

Why is the man unhappy?

(A)  He lost his job.

(B) He had an accident at work.

(C) He made a customer angry.

What time did the man finish work that day?
(A) 500.

(B) 5:30.

©) 6:00.

‘What kind of food did the man and woman decide to have for dinner?
(A)  Chinese.

(B) Italian.

(C) Japanese.

How will they go to the restaurant?

(A) On foot.

(B) By train.

(©) By car.
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Listening 8

59.

61.

62.

63.

‘What does the woman say about the effect of the Internet on

language?

(A) Tt is changing written language into speech-like communication.

(B) It has helped to standardise the spelling rules for many
languages.

(C) It is impossible to say that any changes are negative or positive.

What does the woman say about the criticism of text messaging?

(A)

She says that not enough research has been done on text

messages.

(B) She says that the criticism is not supported by the facts.

(C) She says she understands why people get angry about bad
language.

What does the woman say about abbreviations in text messages?

(A) They are found in messages sent by commercial organisations.

(B) They are used more by young people than by adults.

(C) They were in common use before the Internet was created.

‘What does the woman think about text poetry?

(A) It is bad writing since it uses a limited number of characters.

(B) It does not have the same power as Japanese haiku.

(C) TItis as good as other kinds of poetry if the writer is skilful.

‘What does the woman say about text messaging and elementary

school children?

(A) Text messaging has no negative impact on children’s language
development.

(B) Text messaging is causing children to learn poor spelling and

grammar.

(c

Text messaging is increasing because more children have mobile

phones.
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(C) Listening9 ~10(64~73) Tl&, #iE#EBIWT, ZRISXHL T, HIRIShiz
HEXDONENIE LITHIEA) TRUE %, 1EL £ &P HIEB) FALSE #:80°% &
Wy, 23, Listening 9 IZIX R E AT D, Listening 10 11X A< 2H ) &
Fo PIEIEH Y TEA

Listening 9
You will hear an announcement at a book store. Look at the 4 sentences

below. Decide if each sentence is TRUE or FALSE. If it is TRUE, choose

A). If it is FALSE, choose (B).

64. The bookstore will close at 8:30.
(A) TRUE (B) FALSE
65. Customers can pay for their purchases on the second floor.
(A) TRUE (B) FALSE
66. The bookstore will open tomorrow at 9:30.
(A} TRUE (B) FALSE
67. Customers with a membership card can save 20% on all purchases.

(A) TRUE (B) FALSE
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Listening 10
You will hear a news report about the introduction of squirrels into
American parks. Look at the 6 sentences below. Decide if each sentence

is TRUE or FALSE. If it is TRUE, choose (A). If it is FALSE, choose (B).

68. Nowadays, squirrels are commonly found in many American cities.
(A) TRUE (B) FALSE

69. New York was the first city into which squirrels were introduced.
(A) TRUE (B) FALSE

70. During the 19th century, squirrels in parks were protected by
security guards.
(A) TRUE (B) FALSE

71. Squirrels were first introduced to parks to teach children to care
about small animals.
(A) TRUE (B) FALSE

72. Since the 1970s, most American parks have prohibited the feeding of
squirrels.
(A) TRUE (B) FALSE

73. Most people are in favor of having squirrels in cities.

(A) TRUE (B) FALSE

BT % 8
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